

Article



Identifying Habitat Elements from Bird Images Using Deep Convolutional Neural Networks

Zhaojun Wang ^{1,2}, Jiangning Wang ¹, Congtian Lin ^{1,2}, Yan Han ¹, Zhaosheng Wang ³, and Liqiang Ji ^{1,*}

- Key Laboratory of Animal Ecology and Conservation Biology, Institute of Zoology, Chinese Academy of Sciences, Beijing 100101, China; wangzhaojun@ioz.ac.cn (Z.W.); wangjn@ioz.ac.cn (J.W.); linct@ioz.ac.cn (C.L.); hanyan@ioz.ac.cn (Y.H.)
- ² College of Resources and Environment, University of Chinese Academy of Sciences, Beijing 100101, China
- ³ National Ecosystem Science Data Center, Key Laboratory of Ecosystem Network Observation and Modeling, Institute of Geographic Sciences and Natural Resources Research, Chinese Academy of Sciences, Beijing 100101, China; wangzs@igsnrr.ac.cn
- * Correspondence: ji@ioz.ac.cn

Simple Summary: To assist researchers in processing large amounts of bird image data, many algorithms have been proposed, but almost all of them aim at solving the problems of bird identification and counting. We turn our attention to the recognition of habitat elements in bird images, which will help with automatically extracting habitat information from such images. To achieve this goal, we formed a dataset and implemented our proposed method with four kinds of deep convolutional neural networks, and the recognition rate reached a minimum of 89.48% and a maximum of 95.52%. The use of this method will supplement the extraction of bird image information and promote the study of the relationships between birds and habitat elements.

Abstract: With the rapid development of digital technology, bird images have become an important part of ornithology research data. However, due to the rapid growth of bird image data, it has become a major challenge to effectively process such a large amount of data. In recent years, deep convolutional neural networks (DCNNs) have shown great potential and effectiveness in a variety of tasks regarding the automatic processing of bird images. However, no research has been conducted on the recognition of habitat elements in bird images, which is of great help when extracting habitat information from bird images. Here, we demonstrate the recognition of habitat elements using four DCNN models trained end-to-end directly based on images. To carry out this research, an image database called Habitat Elements of Bird Images (HEOBs-10) and composed of 10 categories of habitat elements was built, making future benchmarks and evaluations possible. Experiments showed that good results can be obtained by all the tested models. ResNet-152-based models yielded the best test accuracy rate (95.52%); the AlexNet-based model yielded the lowest test accuracy rate (89.48%). We conclude that DCNNs could be efficient and useful for automatically identifying habitat elements from bird images, and we believe that the practical application of this technology will be helpful for studying the relationships between birds and habitat elements.

Keywords: bird images; deep convolutional neural networks; habitat elements

1. Introduction

Monitoring the populations and habitats of wild animals and plants is not only very important for protecting biodiversity but also closely related to human survival and development. Because of their wide distribution, great mobility, and high sensitivity to environmental changes [1], birds have naturally become extremely important groups for monitoring. Time-lapse videos [2,3], camera traps [4–9], and unmanned aerial vehicle (UAV) [10–12] aerial photographs are widely used in bird monitoring. The advantages of using these devices are high security, long-term use, uninterrupted monitoring, minimal



Citation: Wang, Z.; Wang, J.; Lin, C.; Han, Y.; Wang, Z.; Ji, L. Identifying Habitat Elements from Bird Images Using Deep Convolutional Neural Networks. *Animals* **2021**, *11*, 1263. https://doi.org/10.3390/ani11051263

Academic Editor: Jukka Jokimäki

Received: 25 January 2021 Accepted: 18 April 2021 Published: 27 April 2021

Publisher's Note: MDPI stays neutral with regard to jurisdictional claims in published maps and institutional affiliations.



Copyright: © 2021 by the authors. Licensee MDPI, Basel, Switzerland. This article is an open access article distributed under the terms and conditions of the Creative Commons Attribution (CC BY) license (https:// creativecommons.org/licenses/by/ 4.0/). interference with birds, and surveying in areas where humans cannot easily stay for long periods of time. In addition, the captured images can be stored conveniently. A large number of bird images can be easily obtained by a professional ornithologist or birdwatcher using a variety of image acquisition devices (e.g., regular cameras or smartphones). As an important part of bird monitoring data, bird images are of great significance in bird monitoring activities. Proverbially, a picture says more than a thousand words, and bird images can record the appearances, behaviours, population characteristics, and habitat elements of the observed birds directly and quickly. In particular, by analysing the habitat elements in bird images, we can find patterns between birds and habitat elements (e.g., preferences for pine foliage or trunks for foraging or nesting [13]), and these patterns are helpful for understanding bird behaviour and monitoring the impacts of environmental changes on birds. However, the collection of bird images from around the world is growing so rapidly that it has greatly outpaced the abilities of image analysis tools [14]. It is conceivable that the cost of manually extracting habitat elements from a large amount of image data for analysis purposes is extremely high or even unfeasible. Unfortunately, no algorithm that can automatically identify habitat elements in bird images has been proposed, which has prevented scientists from using bird images to carry out relevant research.

In recent years, deep learning [15,16] has made remarkable achievements [17] in computer vision [18,19]. Deep learning has yielded great improvements in object detection [20], object recognition [21], scene recognition [22], image segmentation [23], and other tasks. Deep learning techniques, such as deep convolutional neural networks (DCNNs), have also attracted the attention of ecologists. DCNNs can automatically learn from data. Taking image classification tasks as an example, DCNNs can automatically learn features for classification from a large number of input images, without relying on human domain knowledge. This remarkable advantage makes researchers only need to collect corresponding data according to the target when using this technology, instead of making various attempts for feature selection and extraction. To assist ecologists and zoologists in rapidly and effectively processing large-scale bird image data, computer vision research has long dealt with bird image analysis-related problems, such as bird detection [24], the counting of crowded birds [25,26], fine-grained classification [27–30] of birds, and even individual recognition with small birds [31], using DCNNs. DCNNs have achieved surprising results in these tasks.

Such studies are very helpful for performing bird monitoring research. However, few studies have been conducted on the recognition of habitat elements, which are very important for studying the relationships between birds and the environment. Habitat elements are generally located in image backgrounds. In studies by [32,33], an algorithm was proposed that can identify whether animals (including birds) are present in an image. This algorithm can quickly divide animal images into two categories; this has been of great help to researchers but still fails to meet their actual needs. When studying the relationships between birds and habitat elements, such as those between birds and wires [34,35], even though researchers can collect a large amount of relevant image data using various image acquisition equipment, they must use artificial methods in the data processing stage and analyse the obtained images one by one or frame by frame. Such a process requires considerable manpower and time; the manual processing method is only suitable for a relatively small amount of data, and it is almost impossible to utilize for a large amount of image data.

Therefore, it is necessary to study an algorithm for the automatic recognition of habitat elements from bird images, as this will be of great help for ornithology research. The automatic identification of habitat elements can be regarded as an image classification problem. Given the extraordinary performance of DCNNs in image classification problems, we assume that the use of this technology to identify habitat factors from bird images is also feasible and effective.

To our knowledge, this study is the first attempt to identify habitat elements in bird images and to build a database for this kind of research. In summary, the contributions of

this article to the field mainly include: We built a dataset, Habitat Elements of Bird Images (HEOBs-10), for identifying habitat elements from bird images; HEOBs-10 contains 2135 images across 10 categories. We used four popular DCNNs to implement automatic identification for habitat elements and achieved good results, which verified the effectiveness of DCNNs in solving the problem of identifying habitat elements from bird images and provided a baseline for future research.

2. Materials and Methods

2.1. Data Acquisition

Since no public image dataset exists for identifying habitat elements, it was necessary to build an appropriate dataset. For this reason, we built a database called HEOBs-10. The database contains 10 categories, each with approximately 200 images; all images in the database are randomly divided into three parts at a ratio of 3:1:1 (for the training set, the validation set, and the test set), and the distribution of samples for each subset tends to be balanced (Table 1). The training set data are used to train the developed models; the validation set data are used to monitor the training process, which decides when to stop training and find the best model; and the test set data are only used to evaluate the performance of the obtained model and cannot be used for model training.

Categories	Training Set	Validation Set	Test Set
Broad leaves	118	41	41
Coniferous tree	122	42	42
Hard ground	118	41	41
Leafless	138	47	47
Stalk	139	47	47
Stone	124	42	42
Trunk	131	44	44
Grassland	118	41	41
Water	133	46	46
Wire	127	44	44
Total	1268	435	435

Table 1. Partitions of the 10 categories in the HEOBS-10 dataset.

The majority of the images in the database were mainly contributed by the citizen science project called BirdFans in China [36] and before the start of this study, our team had obtained approximately 20,000 bird images from BirdFans in China for use in bird image analysis. First, we determined the tags that may be used for the identification of habitat elements. This process was completed by looking up related literature, consulting bird researchers, and quickly browsing existing images. Combining actual needs and existing image data, we initially selected 17 alternate labels (such as water, sky, broad leaves, etc.) that were used as habitat element category labels. Then, we used the labels to create corresponding category folders and manually classified the abovementioned images. During the classification process, images with clear categories were preferentially selected, and images whose habitat elements were difficult to identify due to blurred backgrounds were removed. Then, we checked and removed duplicate and unreadable images. This process was automatically completed by scripting in Python. The number of images used for model training is a key component of the development of a quality assurance process [37]. Some categories with fewer than 200 samples were not included in the database. After completing the above steps, we obtained a dataset containing 10 categories. We also collected some images from Macaulay Library at the Cornell Lab of Ornithology and eBird [38] as a supplement, and these new images were used to replace some different but similar images that may have been caused by continuous shooting. This processing step can increase the diversity of a single data category, which is beneficial for the stability of the proposed algorithm [39]. Very few pictures contained two or more

habitat elements, and we only used the most significant category as the true label in such cases. Figure 1 shows some of the samples in the database.

Figure 1. Sample images from our proposed database, HEOBs-10. Ten habitat elements are included. The three images in each column belong to the same category, and the letters a to j refer to broad leaves, hard ground, stalk, stone, leafless, wire, grassland, trunk, coniferous tree, and water, respectively.

2.2. DCNN Models

Deep convolutional neural networks are very similar to artificial neural networks (ANNs) [40], which are composed of large numbers of neurons with learnable weights and biases. Typically, these neurons are aggregated into layers. A typical DCNN consists of a sequence of layers, and every layer of the network transforms one volume of activations into another through an activation function. Three main types of layers (convolutional layers, pooling layers, and fully connected layers) are used to build DCNN architectures. Note that convolutional layers and fully connected layers contain learnable parameters (the weights and biases of the neurons). For image classification tasks, during the training phase, when a DCNN receives input data, it produces a prediction through forward propagation [15]. The prediction is usually interpreted as the probability distribution of the categories predicted by the model, and a higher value in the probability distribution usually indicates that the DCNN is more confident that the image belongs to the corresponding category (Figure 2). The distance between the predicted probability distribution and the one-hot encoding-based [41] representation of the data label is recorded as a loss. Then, the network adjusts its parameters through backpropagation [15] to minimize this loss. Backpropagation is usually implemented by the gradient descent method [15].

In image classification tasks, cross entropy (CE) [43] is often used to calculate the loss. The CE indicates the distance between what the model believes the output distribution should be and what the target distribution is [43]. We use P and Q to represent the output vector of the model predictions and the target vector composed of the true labels, respectively.

The cross-entropy H(p,q) of the two probability distributions P and Q obeys the following system of equations:

$$\mathbf{P} = \{ p(x_1), \ p(x_2), p(x_i), \dots, p(x_n) \},$$
(1)

$$Q = \{q(x_1), q(x_2), q(x_i), \dots, q(x_n)\},$$
(2)

$$CE = H(p,q) = -\sum_{i=1}^{n} p(x_i) \times q(x_i),$$
(3)

where i represents the index of the output vector component (or the categories in the target vector), and *n* represents the number of categories.



4 of 21



Figure 2. Overview of the deep convolutional neural network (DCNN) architecture. A DCNN consists of several layers (including but not limited to a convolutional layer, pooling layer, and fully connected layer) of abstraction that tend to gradually convert raw data into more abstract concepts [42]. For example, the raw pixels of the input data are first transformed into low-level features, then more complex features, and then high-level features until a final prediction is made by the final fully connected layer, which employs a softmax function that can return a vector of the same size as the number of categories to be identified. Each element of the vector is a value between 0 and 1, with higher values signalling higher confidence of the model in the predicted category of the input image.

AlexNet [44] won the 2012 ImageNet Large Scale Visual Recognition Challenge, a benchmark in object category classification with millions of images, with a significant advantage. Since then, algorithms based on DCNNs have been widely used in various computer vision tasks. DCNNs not only have outstanding performance in various tasks but also use an end-to-end approach. Manual intervention is greatly reduced, making the applications of DCNNs more convenient; therefore, their application range has been further expanded. After AlexNet was developed, additional new DCNNs with excellent performance were proposed, such as the Visual Geometry Group (VGG) network [45], ResNet [46,47], GoogLeNet [48], and DenseNet [49]. Compared with AlexNet, these new network models increase the number of layers and optimize the structure of the network. For example, VGG replaces the large convolution kernel used by AlexNet with two smaller convolution kernels; ResNet adds a residual structure. These optimizations enable the networks to not only increase their fitting abilities but also obtain significant performance improvements.

A DCNN can also be regarded as being composed of two parts: a feature extractor and a classifier. The feature extractor can extract low-level features, more complex features, and high-level features from the original image to obtain a feature map, which is then expanded into a high-dimensional feature vector. The high-dimensional feature vector is then fed to the classifier, where the vector undergoes some linear transformations and nonlinear transformations, and finally passes through the softmax function; the output is a vector of the same size as the number of categories to be identified.

In this work, we used four DCNN models in the PyTorch [50] model library as our basic networks, including AlexNet and VGG19 [51], and two ResNet series networks, ResNet50 and ResNet152. The architectures of various models are represented in Figure A1.

2.3. Transfer Learning

Transfer learning is used to improve a model from one domain by transferring information from a related domain [52] and is widely used in various image classification tasks because it can shorten the required training time, make the model converge faster, and significantly improve the performance of the model when the data size is relatively small. In practice, a model pretrained on ImageNet is often used as the initial network model, and then the structure is modified according to the specific task. Then, the new data are used for training, that is, fine-tuning [53]. This approach has achieved good results in solving a wide range of computer vision problems [54]. DCNNs require a large number of image instances for training; however, in this work, because the data size was not large enough, we adopted the transfer learning method, and the classifier part of the utilized network was modified according to the number of categories in HEOBs-10.

2.4. Implementation and Preprocessing

A Linux server with one GV100GL (a Tesla V100 PCIe GPU with 32 GB of memory, Santa Clara, CA, USA) was used to train all the networks. The networks were implemented using Python 3.7.4 and PyTorch (Version 1.3.1, Facebook, Menlo Park, CA, USA) [50]. We used 60% (1268 images) of the dataset for training, 20% (435 images) as verification images, and the remaining 20% as test images; the counts of all habitat element categories are shown in Table 1. The code for the CNN training and prediction method described in this paper is available on GitHub [55].

After the dataset was preprocessed through the method described above, we needed to set the hyperparameters involved in the training process. These hyperparameters have different effects on the model training time, convergence, and equipment load. Therefore, before starting the training process, we employed several pre-experiments and obtained the best combination of hyperparameters using the grid search method [56]. Table 2 summarizes the primary hyperparameters that governed the DCNNs during our experiments.

Table 2. Hyperparameters used in our experiments.

Hyperparameters	Values
Initial learning rate [57]	0.001
Optimizer [58]	stochastic gradient descent (SGD) [59]
Learning rate policy [57]	step decay [60] (momentum = 0.9 ; step size = 7; gamma = 0.1)
Batch size [57]	32
Number of epochs [61]	50

The learning rate controls how much the model should be changed in response to the loss each time the model's weights are updated. A large learning rate may cause the model to oscillate during the training process and fail to converge; a learning rate that is too small greatly increases the convergence time. Here, we adopted a policy called step decay, which can adaptively change the learning rate automatically as the training procedure progresses. Given the machine's capacity and algorithm convergence, usually, an entire dataset (training set, validation set, or test set) is not passed through a model at once. Instead, the complete dataset is passed to the same model iteratively in batches. The batch size refers to the number of training images utilized in one iteration. One epoch represents that the entire dataset is passed forward and backward through the model only once. To obtain a model with good performance, the model needs to be trained for several epochs.

2.5. Training Models

We obtained four DCNN models, which were pretrained on approximately 1.28 million images (1000 object categories) from the ImageNet, from PyTorch's model management library. We modified the models according to the number of categories in our dataset and used each modified model as the initial network model. During the training phase, to increase the size of the training set and decrease overfitting problems [62], multiple image transformations, such as rescaling (all input images were resized to 224 × 224 to follow the model specification); random rotation; random changes in the brightness, contrast, and saturation of an image; random horizontal flip; and center-crop augmentation, were used to train each model. The data augmentation procedure was automatically computed before training.

The whole experiment in our work was performed in two separate stages. In the first stage, we used the training set and validation set data to fine-tune each pretraining model in turn, recording the training loss and validation accuracy of the model in each epoch. In the training phase, the model with updated parameters after the first epoch was automatically saved as a temporary optimal model. At the end of the new epoch, we compared the verification accuracy of the new model with that of the previous model. If the validation accuracy of the new model was higher than that of the previous model, the new model overwrote the previously saved optimal model. Otherwise, the previous model was retained. This was repeated until the last (50th) epoch was finished. After performing these steps (Figure 3), we obtained 4 retrained DCNN models with optimal validation accuracies.



Figure 3. Pipeline of our proposed framework for identifying habitat elements.

In the second stage, to observe the effect of the size of the training dataset on the effectiveness of the DCNNs in identifying habitat factors, we specifically processed the initial dataset. We kept the validation set and test set unchanged. We copied the four original training datasets and randomly selected 20%, 40%, 60%, and 80% of the images from these copied datasets to generate four new training datasets. Then, we used these subdatasets of different sizes and the original verification set and test set to repeat the procedure of the first stage.

For deep learning, generally, it is difficult for the same team in the same location to obtain the exact same results on different experiments with the same precision under the same experimental setup, such as the hardware and software settings used during multiple trials [63]. To obtain more reference data, we repeated the two experimental stages 10 times.

2.6. Performance Evaluation Indicators

We used the 435 test images to evaluate the retrained models. Note that during the model evaluation stage, each model's parameters were not updated. All the test images were divided into four categories according to the real labels and the prediction results. There are altogether four basic counts: true positives (TPs), true negatives (TNs), false positives (FPs), and false negatives (FNs). The numbers of correctly predicted test images are indicated by the TPs and TNs, and the numbers of incorrectly predicted images are the FNs and FPs. Based on the above definitions, the following four indicators commonly used to evaluate the performance of classification models can be defined: accuracy, precision, recall, and F1-score.

Accuracy: This metric is defined as the ratio of correctly classified images to the total number of images in the dataset and can be defined as follows:

$$Accuracy = \frac{TP + TN}{TP + TN + FP + FN}.$$
(4)

Precision, Recall, and F1-score: These metrics are used to measure how close the results obtained for each category are to the corresponding real labels. Take the trunk class of test images as an example. The precision refers to the ratio of the number of images correctly predicted as trunks (TPs) to the total number of images predicted as trunks (TP+FP); the recall rate refers to the ratio of the number of images correctly predicted as trunks (TPs) to the number of images with the true label of "Trunk" (TP + FN). The F1-score is computed as the harmonic average of precision and recall. Therefore, the above three indicators can be defined as:

$$Precision = \frac{TP}{TP + FP'}$$
(5)

$$\operatorname{Recall} = \frac{TP}{TP + FN'}$$
(6)

$$F1 - score = \frac{2 \times Precision \times Recall}{Precision + Recall}.$$
(7)

3. Results

In our experiment, during the training phase, the proposed models tended to converge in approximately 20 epochs, and the verification accuracy of each model also tended to stabilize, which indicates that each network was fully trained (Figure 4).



Figure 4. Training losses and accuracies of the tested models. (**a**) For each of the models, as the number of training rounds increased, the loss between the model's predicted value and the true value showed a decreasing trend. (**b**) At the same time, the model's accuracy on the validation set showed an upward trend. The models tended to converge in approximately 20 epochs, and the validation accuracy of each model also tended to stabilize, which indicates that the networks were fully trained.

On the whole, good results were obtained for the proposed models (Table 3). The ResNet152-based model yielded the best test accuracy rate (95.52%). The AlexNet-based model yielded the lowest test accuracy rate (89.48%).

Table 3. Classification accuracies of various models on the test set.

Model Name	Validation Accuracy (Mean \pm SD%)	Test Accuracy (Mean \pm <i>SD</i> %)
AlexNet	91.11 ± 0.54	89.48 ± 1.05
VGG19	96.05 ± 0.59	93.45 ± 0.79
ResNet50	97.16 ± 0.38	95.34 ± 0.39
ResNet152	97.76 ± 0.36	95.52 ± 0.40

The F1-score of each habitat factor is greater than 0.80 (Figure 5, Table A1), which indicates that the models exhibited good performance on the test set. There were significant differences (analysis of variance (ANOVA) p < 0.05, Table A2) in the abilities of the models

to identify various habitat elements on the test set. This significance is mainly reflected in the fact that the average F1 scores of "leafless" and "stalk" were significantly lower than those of other categories (Table A3), and there were no significant differences for the other habitat elements.



Figure 5. F1-scores of different categories on the test set. Error bars displaying the standard deviations are shown.

We utilized AlexNet to make predictions for 10 samples randomly picked from different categories in the test set. We observed that the model was very confident in the predictions of these sample images, and most of the probability values were above 0.90 (Figure 6).

We observed that the four DCNN models performed well in terms of the recognition of water, and no errors occurred. When identifying "leafless" and "stalk", the performances were relatively poor; this was consistent with the F1-score evaluation (Figure 5). For "leafless" recognition, the numbers of errors were not less than 5; for "stalk recognition", the numbers of errors were greater than or equal to 4. ResNet152 misidentified 5 leafless sheets as stalks and misidentified 2 sheets of stalks as leafless images, indicating that ResNet152 was easily confused by "leafless" and "stalk" (Figure 7); this was consistent with the T-SNE visualization results (Figure 8).



Figure 6. The predictions given by AlexNet for the images in the test set. The real labels and the top 10 predictions are shown. The number beside each label indicates the corresponding probability or prediction confidence. For each image, the sum of the probability values of all its corresponding tags is equal to 1, and this was determined by the activation function used in the proposed algorithm.



Figure 7. Confusion matrix (or error matrix) comparison among the above models. Taking the confusion matrix of AlexNet as an example, I and J represent the row number and column number of the elements in the matrix, respectively; then, the element (i, j) of each confusion matrix represents the number of predictions of category j given that the actual label was class i, with i and j referring to the classes from the category names at the left and top of the figure. Note that AlexNet recognized "leafless" as "wire" most times, while the other three networks did not. However, the other three networks confused "leafless" and "stalk" with each other.

Although DCNNs have higher requirements than other networks regarding the number of samples, in our research, when using 20% of the training set data, the test accuracies of the four networks exceeded 0.80 (Figure 9). In our experiments, the impact of increasing the training set size on different networks is not consistent. For AlexNet (Table A4), using 20% of the images in the original training set as the sub-training data set, the test accuracy was significantly lower than that of other larger training data sets; as the training set size increased, the test accuracy rate did not show a significant change. For VGG19 (Table A5) and ResNet152 (Table A6), when the training set size is increased to 60% of the initial training set size, the test accuracy is significantly improved; but when a larger training set is used to train the model, the test accuracy does not change significantly. For ResNet50 (Table A7), as the training set increased, the test accuracy showed a significant improvement trend, but there was no significant difference between the 60% and 80% training sets size.



Figure 8. T-distributed stochastic neighbour embedding (T-SNE) [64] visualization of the last hidden layer representations produced by ResNet152 for ten habitat element classes (the coloured point clouds represent the different habitat element categories, showing how the algorithm clustered these categories). Most habitat elements were grouped independently according to their categories, but broad-leaved trees, leafless plants, and stalk were more concentrated, and wires were closer to these three categories.



Figure 9. Average test accuracies of the proposed models trained with training sizes ranging from 20% to 100% of the images in the original training set. Error bars displaying the standard deviations within 50 epochs are shown.

4. Discussion

As expected, our study verified the feasibility and effectiveness of using DCNNs to automatically identify habitat elements, and the best accuracy rate reached 97.76%. Although we only used ten habitat elements as the objects of recognition in our research, DCNNs have also achieved good results in terms of the recognition of 1000 categories in the ImageNet recognition task [65], so we have reason to believe that if more categories of images are provided, our method can also identify more habitat elements.

In our work, when the four network models recognized "leafless" and "stalk", the recognition rates were relatively low, and the two categories were prone to being confused with one another. However, the training images of these two habitat factors were not the least common. This result may have been caused by the visual similarity of the two types of habitat elements.

We can identify habitat elements from bird images, which will help us to understand the characteristics of bird habitats and a given bird's preferences for habitat elements by analysing the object co-occurrence [66] relationships in each image. However, it should be noted here that it is not sufficient to infer the habitat types of birds based on the identified habitat elements alone. Taking an image containing water as an example, without the support of more information, it cannot be inferred that the habitat is in a puddle, lake, or sea, and it is not even easy to judge whether the image is a country or town scene. On the one hand, some different habitats share the same habitat elements, such as water; on the other hand, the identification of the habitat category itself may also be disturbed by shooting elements, such as the camera view angles and depth of field. In terms of judging habitat types, we can obtain more reliable and richer information based on identifying habitat elements and combining image metadata [67], such as global positioning system (GPS) data and shooting time data, and this will be a worthwhile approach.

The continuous in-depth research and application of image recognition technology in various fields have also caused some concerns among researchers [68–71] about their personal data being parsed; this kind of worry should be paid attention to and taken seriously. Some image datasets used for species identification, such as the Snapshot Serengeti dataset [72], may inadvertently capture faces or other pictures containing personal information during the image collection process. If they are not processed, there will be a risk of privacy leakage. However, this risk is not uncontrollable. From a technical point of view, if the data containing personal information are filtered out during the model training phase or the use of personal information as a category label is avoided, the model recognition range can be limited to a predetermined target category. In our research, during the processes of data collection and labelling, we did not identify categories that had little to do with the identification of habitat factors as identification objects and screened out images of human faces and hands. For the development of related software or applications, a qualified professional department can review and record the code provided by the developer to clarify the scope of identification. Different types of users should be given different permissions. For example, for some closed/protected areas or sanctuaries, supervision is costly and difficult. Image analysis technology can be used to monitor illegal hunting and poachers. However, for ordinary users, functions involving face recognition or human behaviour analysis should be strictly controlled.

We used a single-label method to annotate the images in our experiments; this approach could not fully express the information about the habitat elements in the images, although most images in the dataset could be processed in this way. In addition, our algorithm is invalid for unfamiliar data (the real labels of which are not included in our dataset); this fact is caused by the activation function used by the algorithm. Therefore, for future research, we believe that the use of multi-label learning [73,74] methods can compensate for these deficiencies. In addition, due to time and human factors, we only identified 10 habitat elements, which are far less than actual needs. We hope that more collaborators can try to identify more types of habitat elements, as this will be meaningful work for animal ecology and zoology research.

Mining interesting knowledge from bird image data is helpful for promoting bird research. Tryjanowski et al. [75] used YouTube video resources to study the interesting phenomenon of alcohol ingestion by birds; Stoddard et al. [76] used image processing technology to study which features of eggs and the background substrate may be effective in preventing predator detection. The combination of bird species recognition, habitat recognition, and bird behaviour recognition will facilitate such research. This will make it possible to automatically understand bird images, allowing researchers to save considerable data processing time and spend more time and energy thinking and discovering new knowledge.

In general, the promising performance of this line of research provides us confidence that DCNNs can be used to automatically identify habitat elements from bird images. The practical application of this technology will promote research on the relationships between birds and habitat elements. At the same time, this technology may also contribute to improving the accuracy of bird recognition because some studies [77,78] have shown that image background information can improve target recognition accuracy.

5. Conclusions

In the present study, we demonstrated the effectiveness of DCNNs in automatically identifying habitat elements from bird images. For the needs of research, we established a dataset called HEOBs-10, which is composed of bird images related to 10 categories of habitat elements. Good results were obtained from all the proposed models. ResNet-152based models yielded the best validation accuracy rate (95.52%); the AlexNet-based model yielded the lowest test accuracy rate (89.48%). The set of experiments performed in this work provides baseline results for the introduced database, which may minimize the lack of a robust public dataset in the field of automatically identifying habitat elements in bird images, thereby making it possible to conduct future benchmarks and evaluations. An evaluation of the performance of the proposed dataset in the real world requires further research. First, the dataset needs to be supplemented by additional bird images containing new categories of habitat elements. Second, the dataset should encourage the use of multilabel learning methods to identify habitat elements, as such methods will be more suitable for the needs of real scenarios than the single-label method. Third, DCNNs can be used to establish relationship graphs between birds themselves and habitat elements, which will be a meaningful exercise.

Author Contributions: Conceptualization Z.W. (Zhaojun Wang), J.W., and L.J.; methodology, Z.W. (Zhaojun Wang) and C.L.; software, Z.W. (Zhaojun Wang); validation, Z.W. (Zhaosheng Wang) and Y.H.; data curation, Z.W. (Zhaojun Wang); writing—original draft preparation, Z.W. (Zhaojun Wang); writing—review and editing, Z.W. (Zhaojun Wang), L.J., J.W., and Z.W. (Zhaosheng Wang); visualization, Z.W. (Zhaojun Wang); supervision, L.J. and Y.H.; project administration, L.J.; funding acquisition, L.J. All authors have read and agreed to the published version of the manuscript.

Funding: This work was supported by grants from the Strategic Priority Research Program of the Chinese Academy of Sciences (XDA19050202), the 13th Five-year Informatization Plan of the Chinese Academy of Sciences (XXH13503), and the National R&D Infrastructure and Facility Development Program of China, 'Fundamental Science Data Sharing Platform' (DKA2017-12-02-10).

Institutional Review Board Statement: Not applicable.

Informed Consent Statement: Not applicable.

Data Availability Statement: Since some of the images in the dataset proposed in this study are from eBird, the public release of our dataset conflicts with the data usage licence of the website, and we have not been authorized to do so, so the download link for the dataset cannot be provided here. However, the bird images used in the research are available from the websites of eBird (https://ebird.org/media/catalog, accessed on 25 July 2020) and BirdFans (https://www.birdfans.com, accessed on 15 June 2019).

Acknowledgments: We thank Xiongwei Huang, Tianyu Xi, Yantao Xue, the members of the Institute of Zoology, CAS, for their active discussions during the project, and we also thank Tingting Lin, a junior student of the College of Forestry, Hainan University, for her contributions regarding the collection of data. We are also grateful Macaulay Library at the Cornell Lab of Ornithology and eBird grant us permission to use images.

Conflicts of Interest: The authors declare no conflict of interest. The funders had no role in the design of the study; in the collection, analyses, or interpretation of data; in the writing of the manuscript; or in the decision to publish the results.



Figure A1. Architecture of the four tested models: (a) AlexNet, (b) VGG19, (c) ResNet50, (d) ResNet152 and (e) residual structure: the bottleneck in (c) and (d). In addition to the typical structures of convolutional layers, pooling layers, and fully connected layers, AlexNet also adds Rectified Linear Unit (ReLU) [79] layers and dropout [80] layers. These new structures are one of the reasons why the performance of AlexNet is more prominent than the performance of previous convolutional neural networks. VGG19 replaces the large convolution kernel with a smaller convolution kernel based on AlexNet, which further improves the performance. ResNet50 and ResNet152 go a step further. They use a stacked residual network structure to make the model deeper so that this type of network can obtain improvements without performance degradation.

Table A1. Metrics of various m	odels.
--------------------------------	--------

Model	Class	Precision	Recall	f1-Score
	broad leaves	0.85	0.95	0.90
	coniferous tree	0.92	0.81	0.86
	grass land	0.95	0.95	0.95
Alexnet	hard ground	1.00	0.88	0.94
	leafless	0.84	0.81	0.83
	stalk	0.89	0.89	0.89
	stone	0.93	0.88	0.90

Model	Class	Precision	Recall	f1-Score
	trunk	0.98	0.93	0.95
Alexnet	water	0.92	1.00	0.96
	wire	0.84	0.98	0.91
	broad leaves	0.95	0.93	0.94
	coniferous tree	0.97	0.90	0.94
	grass land	0.95	1.00	0.98
	hard ground	1.00	0.98	0.99
VCC10	leafless	0.95	0.83	0.89
VGG19	stalk	0.85	0.94	0.89
	stone	0.93	0.93	0.93
	trunk	0.98	0.95	0.97
	water	0.98	1.00	0.99
	wire	0.92	1.00	0.96
	broad leaves	0.98	0.98	0.98
	coniferous tree	0.98	0.95	0.96
	grass land	0.95	0.98	0.96
	hard ground	1.00	0.95	0.97
DeeNie (EO	leafless	0.89	0.87	0.88
ResNet50	stalk	0.86	0.91	0.89
	stone	0.95	0.95	0.95
	trunk	0.98	0.98	0.98
	water	0.98	1.00	0.99
	wire	0.98	0.95	0.97
	broad leaves	0.95	0.98	0.96
	coniferous tree	1.00	0.95	0.98
	grass land	0.95	0.98	0.96
	hard ground	1.00	0.98	0.99
D. N. (150	leafless	0.91	0.89	0.90
KesiNet152	stalk	0.88	0.89	0.88
	stone	0.95	0.93	0.94
	trunk	0.96	0.98	0.97
	water	0.98	1.00	0.99
	wire	0.98	0.98	0.98

Table A1. Cont.

 Table A2. ANOVA results regarding the F1-scores of various categories.

Sources	SS	df	MS	F	<i>p</i> -Value	Eta-sq	RMSSE	Omega Sq
Between Groups	0.0459	9.0000	0.0051	6.8324	p < 0.001	0.6721	1.3069	0.5675
Within Groups	0.0224	30.0000	0.0007					
Total	0.0682	39.0000	0.0017					

Table A3. Tukey's HSD Post Hoc Test results regarding the F1-score of various categories.

Group 1	Group 2	Mean	Std Err	q-Stat	Lower	Upper	<i>p</i> -Value	Mean-Crit	Cohen d
broad leaves	coniferous tree	0.0100	0.0137	0.7323	(0.0559)	0.0759	0.9999	0.0659	0.3662
broad leaves	grass land	0.0175	0.0137	1.2816	(0.0484)	0.0834	0.9951	0.0659	0.6408
broad leaves	hard ground	0.0275	0.0137	2.0139	(0.0384)	0.0934	0.9098	0.0659	1.0070
broad leaves	stone	0.0150	0.0137	1.0985	(0.0509)	0.0809	0.9984	0.0659	0.5493
broad leaves	trunk	0.0225	0.0137	1.6478	(0.0434)	0.0884	0.9723	0.0659	0.8239
broad leaves	water	0.0375	0.0137	2.7463	(0.0284)	0.1034	0.6426	0.0659	1.3731
broad leaves	wire	0.0100	0.0137	0.7323	(0.0559)	0.0759	0.9999	0.0659	0.3662
broad leaves	leafless	0.0700	0.0137	5.1263	0.0041	0.1359	0.0303	0.0659	2.5632
broad leaves	stalk	0.0575	0.0137	4.2109	(0.0084)	0.1234	0.1282	0.0659	2.1055
coniferous tree	grass land	0.0275	0.0137	2.0139	(0.0384)	0.0934	0.9098	0.0659	1.0070
coniferous tree	hard ground	0.0375	0.0137	2.7463	(0.0284)	0.1034	0.6426	0.0659	1.3731

Group 1	Group 2	Mean	Std Err	q-Stat	Lower	Upper	<i>p</i> -Value	Mean-Crit	Cohen d
coniferous tree	stone	0.0050	0.0137	0.3662	(0.0609)	0.0709	1.0000	0.0659	0.1831
coniferous tree	trunk	0.0325	0.0137	2.3801	(0.0334)	0.0984	0.7960	0.0659	1.1900
coniferous tree	water	0.0475	0.0137	3.4786	(0.0184)	0.1134	0.3288	0.0659	1.7393
coniferous tree	wire	0.0200	0.0137	1.4647	(0.0459)	0.0859	0.9873	0.0659	0.7323
coniferous tree	leafless	0.0600	0.0137	4.3940	(0.0059)	0.1259	0.0980	0.0659	2.1970
coniferous tree	stalk	0.0475	0.0137	3.4786	(0.0184)	0.1134	0.3288	0.0659	1.7393
grass land	hard ground	0.0100	0.0137	0.7323	(0.0559)	0.0759	0.9999	0.0659	0.3662
grass land	stone	0.0325	0.0137	2.3801	(0.0334)	0.0984	0.7960	0.0659	1.1900
grass land	trunk	0.0050	0.0137	0.3662	(0.0609)	0.0709	1.0000	0.0659	0.1831
grass land	water	0.0200	0.0137	1.4647	(0.0459)	0.0859	0.9873	0.0659	0.7323
grass land	wire	0.0075	0.0137	0.5493	(0.0584)	0.0734	1.0000	0.0659	0.2746
grass land	leafless	0.0875	0.0137	6.4079	0.0216	0.1534	0.0030	0.0659	3.2040
grass land	stalk	0.0750	0.0137	5.4925	0.0091	0.1409	0.0160	0.0659	2.7463
hard ground	stone	0.0425	0.0137	3.1124	(0.0234)	0.1084	0.4777	0.0659	1.5562
hard ground	trunk	0.0050	0.0137	0.3662	(0.0609)	0.0709	1.0000	0.0659	0.1831
hard ground	water	0.0100	0.0137	0.7323	(0.0559)	0.0759	0.9999	0.0659	0.3662
hard ground	wire	0.0175	0.0137	1.2816	(0.0484)	0.0834	0.9951	0.0659	0.6408
hard ground	leafless	0.0975	0.0137	7.1403	0.0316	0.1634	0.0007	0.0659	3.5701
hard ground	stalk	0.0850	0.0137	6.2248	0.0191	0.1509	0.0042	0.0659	3.1124
stone	trunk	0.0375	0.0137	2.7463	(0.0284)	0.1034	0.6426	0.0659	1.3731
stone	water	0.0525	0.0137	3.8448	(0.0134)	0.1184	0.2114	0.0659	1.9224
stone	wire	0.0250	0.0137	1.8308	(0.0409)	0.0909	0.9473	0.0659	0.9154
stone	leafless	0.0550	0.0137	4.0278	(0.0109)	0.1209	0.1657	0.0659	2.0139
stone	stalk	0.0425	0.0137	3.1124	(0.0234)	0.1084	0.4777	0.0659	1.5562
trunk	water	0.0150	0.0137	1.0985	(0.0509)	0.0809	0.9984	0.0659	0.5493
trunk	wire	0.0125	0.0137	0.9154	(0.0534)	0.0784	0.9996	0.0659	0.4577
trunk	leafless	0.0925	0.0137	6.7741	0.0266	0.1584	0.0015	0.0659	3.3870
trunk	stalk	0.0800	0.0137	5.8587	0.0141	0.1459	0.0083	0.0659	2.9293
water	wire	0.0275	0.0137	2.0139	(0.0384)	0.0934	0.9098	0.0659	1.0070
water	leafless	0.1075	0.0137	7.8726	0.0416	0.1734	0.0002	0.0659	3.9363
water	stalk	0.0950	0.0137	6.9572	0.0291	0.1609	0.0011	0.0659	3.4786
wire	leafless	0.0800	0.0137	5.8587	0.0141	0.1459	0.0083	0.0659	2.9293
wire	stalk	0.0675	0.0137	4.9433	0.0016	0.1334	0.0411	0.0659	2.4716
leafless	stalk	0.0125	0.0137	0.9154	(0.0534)	0.0784	0.9996	0.0659	0.4577

Table A3. Cont.

The *p* values in bold font represent significant differences between groups (p < 0.05). The *p* values indicate that the average F1-score between "leafless" and "stalk" is significantly lower than those of other categories, and there are no significant differences among the other habitat elements.

Table A4. Tukey's HSD Post Hoc Test results regarding AlexNet's test accuracies of various training set sizes.

Group 1	Group 2	Mean	Std Err	q-Stat	Lower	Upper	<i>p</i> -Value	Mean-Crit	Cohen d
s1	s2	4.9952	0.2703	18.4796	3.9090	6.0814	<i>p</i> < 0.001	1.0862	5.8438
s1	s3	5.4183	0.2703	20.0452	4.3322	6.5045	<i>p</i> < 0.001	1.0862	6.3388
s1	s4	5.2564	0.2703	19.4460	4.1702	6.3426	<i>p</i> < 0.001	1.0862	6.1494
s1	s5	5.2465	0.2703	19.4093	4.1603	6.3327	<i>p</i> < 0.001	1.0862	6.1378
s2	s3	0.4232	0.2703	1.5655	(0.6630)	1.5094	0.8020	1.0862	0.4951
s2	s4	0.2612	0.2703	0.9664	(0.8250)	1.3474	0.9591	1.0862	0.3056
s2	s5	0.2513	0.2703	0.9297	(0.8349)	1.3375	0.9643	1.0862	0.2940
s3	s4	0.1620	0.2703	0.5992	(0.9242)	1.2481	0.9930	1.0862	0.1895
s3	s5	0.1719	0.2703	0.6358	(0.9143)	1.2581	0.9913	1.0862	0.2011
s4	s5	0.0099	0.2703	0.0367	(1.0763)	1.0961	1.0000	1.0862	0.0116

The *p* values in bold font represent significant differences between groups (p < 0.05). S1, s2, s3, s4, and s5 respectively refer to the sub-training set composed of 20%, 40%, 60%, 80%, and 100% of the initial training set images. The *p* values indicate that using 20% of the images in the original training set as the sub-training data set, the test accuracy of AlexNet was significantly lower than that on other larger training data sets; as the increased training set size, the test accuracy rate did not show a significant change.

Group 1	Group 2	Mean	Std Err	q-Stat	Lower	Upper	<i>p</i> -Value	Mean-Crit	Cohen d
s1	s2	2.4316	0.3067	7.9272	1.1990	3.6642	<i>p</i> < 0.001	1.2326	2.5068
s1	s3	3.9287	0.3067	12.8078	2.6961	5.1612	<i>p</i> < 0.001	1.2326	4.0502
s1	s4	4.5214	0.3067	14.7402	3.2888	5.7540	<i>p</i> < 0.001	1.2326	4.6613
s1	s5	5.0723	0.3067	16.5362	3.8397	6.3049	<i>p</i> < 0.001	1.2326	5.2292
s2	s3	1.4971	0.3067	4.8806	0.2645	2.7296	0.0102	1.2326	1.5434
s2	s4	2.0898	0.3067	6.8130	0.8572	3.3224	0.0002	1.2326	2.1545
s2	s5	2.6407	0.3067	8.6090	1.4082	3.8733	<i>p</i> < 0.001	1.2326	2.7224
s3	s4	0.5928	0.3067	1.9325	(0.6398)	1.8253	0.6518	1.2326	0.6111
s3	s5	1.1437	0.3067	3.7285	(0.0889)	2.3763	0.0806	1.2326	1.1790
s4	s5	0.5509	0.3067	1.7960	(0.6817)	1.7835	0.7106	1.2326	0.5680

Table A5. Tukey's HSD Post Hoc Test results regarding VGG19's test accuracies of various training set sizes.

The *p* values in bold font represent significant differences between groups (p < 0.05). S1, s2, s3, s4, and s5 respectively refer to the sub-training set composed of 20%, 40%, 60%, 80%, and 100% of the initial training set images. The *p* values indicate that, for VGG19, when the training set size is increased to 60% of the initial training set size, the test accuracy is significantly improved; but after a larger training set is used to train the model, the test accuracy does not change significantly.

Table A6. Tukey's HSD Post Hoc Test results regarding ResNet50's test accuracies of various training set sizes.

Group 1	Group 2	Mean	Std Err	q-Stat	Lower	Upper	<i>p</i> -Value	Mean-Crit	Cohen d
s1	s2	1.9267	0.1455	13.2459	1.3422	2.5112	<i>p</i> < 0.001	0.5845	4.1887
s1	s3	3.3105	0.1455	22.7592	2.7260	3.8950	<i>p</i> < 0.001	0.5845	7.1971
s1	s4	3.1395	0.1455	21.5833	2.5550	3.7240	<i>p</i> < 0.001	0.5845	6.8252
s1	s5	4.2655	0.1455	29.3245	3.6810	4.8500	<i>p</i> < 0.001	0.5845	9.2732
s2	s3	1.3838	0.1455	9.5133	0.7993	1.9683	<i>p</i> < 0.001	0.5845	3.0084
s2	s4	1.2128	0.1455	8.3374	0.6282	1.7973	p < 0.001	0.5845	2.6365
s2	s5	2.3388	0.1455	16.0786	1.7543	2.9233	p < 0.001	0.5845	5.0845
s3	s4	0.1710	0.1455	1.1759	(0.4135)	0.7555	0.9194	0.5845	0.3719
s3	s5	0.9550	0.1455	6.5653	0.3705	1.5395	0.0003	0.5845	2.0761
s4	s5	1.1260	0.1455	7.7412	0.5415	1.7105	p < 0.001	0.5845	2.4480

The *p* values in bold font represent significant differences between groups (p < 0.05). S1, s2, s3, s4, and s5 respectively refer to the sub-training set composed of 20%, 40%, 60%, 80%, and 100% of the initial training set images. The *p* values indicate that as the training set increased, the test accuracy of ResNet50 showed a significant improvement trend, but there was no significant difference between the 60% and 80% training sets size.

Table A7. Tukey's HSD Post Hoc Test results regarding ResNet152's test accuracies of various training set sizes.

Group 1	Group 2	Mean	Std Err	q-Stat	Lower	Upper	<i>p</i> -Value	Mean-Crit	Cohen d
s1	s2	3.4617	0.2011	17.2106	2.6535	4.2699	<i>p</i> < 0.001	0.8082	5.4425
s1	s3	4.3855	0.2011	21.8033	3.5772	5.1937	<i>p</i> < 0.001	0.8082	6.8948
s1	s4	4.8908	0.2011	24.3156	4.0826	5.6990	<i>p</i> < 0.001	0.8082	7.6893
s1	s5	5.0555	0.2011	25.1344	4.2472	5.8637	<i>p</i> < 0.001	0.8082	7.9482
s2	s3	0.9238	0.2011	4.5927	0.1155	1.7320	0.0178	0.8082	1.4523
s2	s4	1.4291	0.2011	7.1051	0.6209	2.2373	0.0001	0.8082	2.2468
s2	s5	1.5938	0.2011	7.9238	0.7855	2.4020	<i>p</i> < 0.001	0.8082	2.5057
s3	s4	0.5053	0.2011	2.5124	(0.3029)	1.3136	0.3996	0.8082	0.7945
s3	s5	0.6700	0.2011	3.3311	(0.1382)	1.4783	0.1467	0.8082	1.0534
s4	s5	0.1647	0.2011	0.8188	(0.6436)	0.9729	0.9775	0.8082	0.2589

The *p* values in bold font represent significant differences between groups (p < 0.05). S1, s2, s3, s4, and s5 respectively refer to the sub-training set composed of 20%, 40%, 60%, 80%, and 100% of the initial training set images. The *p* values indicate that, for ResNet152, when the training set size is increased to 60% of the initial training set size, the test accuracy is significantly improved; but when a larger training set is used to train the model, the test accuracy does not change significantly.

References

- 1. Gregory, R.D.; van Strien, A. Wild bird indicators: Using composite population trends of birds as measures of environmental health. *Ornithol. Sci.* 2010, *9*, 3–22. [CrossRef]
- 2. Booms, T.L.; Fuller, M.R. Time-lapse video system used to study nesting Gyrfalcons. J. Field Ornithol. 2003, 74, 416–422. [CrossRef]
- 3. Reif, V.; Tornberg, R. Using time-lapse digital video recording for a nesting study of birds of prey. *Eur. J. Wildl. Res.* **2006**, *52*, 251–258. [CrossRef]

- Cloyed, C.S.; Cappelli, L.R.; Tilson, D.A.; Crawford, J.A.; Dell, A.I. Using Camera Traps to Assess Mammal and Bird Assemblages in a Midwestern Forest. J. Fish Wildl. Manag. 2018, 9, 485–495. [CrossRef]
- Murphy, A.J.; Farris, Z.J.; Karpanty, S.; Kelly, M.J.; Miles, K.A.; Ratelolahy, F.; Rahariniaina, R.P.; Golden, C.D. Using camera traps to examine distribution and occupancy trends of ground-dwelling rainforest birds in north-eastern Madagascar. *Bird Conserv. Int.* 2018, 28, 567–580. [CrossRef]
- 6. Randler, C.; Kalb, N. Distance and size matters: A comparison of six wildlife camera traps and their usefulness for wild birds. *Ecol. Evol.* **2018**, *8*, 7151–7163. [CrossRef]
- Ribeiro-Silva, L.; Perrella, D.F.; Biagolini, C.H.; Zima, P.V.Q.; Piratelli, A.J.; Schlindwein, M.N.; Galetti, P.M.; Francisco, M.R. Testing camera traps as a potential tool for detecting nest predation of birds in a tropical rainforest environment. *Zool. Curitiba* 2018, 35. [CrossRef]
- Suwanrat, S.; Ngoprasert, D.; Sutherland, C.; Suwanwaree, P.; Savini, T. Estimating density of secretive terrestrial birds (Siamese Fireback) in pristine and degraded forest using camera traps and distance sampling. *Glob. Ecol. Conserv.* 2015, *3*, 596–606. [CrossRef]
- 9. Stein, A.; Fuller, T.; Marker, L. Opportunistic use of camera traps to assess habitat-specific mammal and bird diversity in northcentral Namibia. *Biodivers. Conserv.* 2008, 17, 3579–3587. [CrossRef]
- 10. Ben Boudaoud, L.; Maussang, F.; Garello, R.; Chevallier, A. Marine Bird Detection Based on Deep Learning using High-Resolution Aerial Images. *OCEANS* 2019. [CrossRef]
- 11. Hong, S.J.; Han, Y.; Kim, S.Y.; Lee, A.Y.; Kim, G. Application of Deep-Learning Methods to Bird Detection Using Unmanned Aerial Vehicle Imagery. *Sensors* 2019, *19*, 1651. [CrossRef]
- 12. Li, C.; Zhang, B.C.; Hu, H.W.; Dai, J. Enhanced Bird Detection from Low-Resolution Aerial Image Using Deep Neural Networks. *Neural. Process Lett.* **2019**, *49*, 1021–1039. [CrossRef]
- 13. Carrascal, L.M.; Galván, I.; Sánchez-Oliver, J.S.; Rey Benayas, J.M. Regional distribution patterns predict bird occurrence in Mediterranean cropland afforestations. *Ecol. Res.* 2014, 29, 203–211. [CrossRef]
- 14. Weinstein, B.G. A computer vision for animal ecology. J. Anim. Ecol. 2018, 87, 533–545. [CrossRef]
- 15. Lecun, Y. Deep learning & convolutional networks. In Proceedings of the 2015 IEEE Hot Chips 27 Symposium (HCS), Cupertino, CA, USA, 22–25 August 2015.
- 16. LeCun, Y.; Bengio, Y.; Hinton, G. Deep learning. Nature 2015, 521, 436–444. [CrossRef]
- 17. Sejnowski, T.J. The unreasonable effectiveness of deep learning in artificial intelligence. *Proc. Natl. Acad. Sci. USA* **2020**, 117, 30033–30038. [CrossRef]
- 18. Guo, Q.H.; Jin, S.C.; Li, M.; Yang, Q.L.; Xu, K.X.; Ju, Y.Z.; Zhang, J.; Xuan, J.; Liu, J.; Su, Y.J.; et al. Application of deep learning in ecological resource research: Theories, methods, and challenges. *Sci. China Earth Sci.* **2020**, *63*, 1457–1474. [CrossRef]
- Tabak, M.A.; Norouzzadeh, M.S.; Wolfson, D.W.; Sweeney, S.J.; Vercauteren, K.C.; Snow, N.P.; Halseth, J.M.; Di Salvo, P.A.; Lewis, J.S.; White, M.D.; et al. Machine learning to classify animal species in camera trap images: Applications in ecology. *Methods Ecol. Evol.* 2019, 10, 585–590. [CrossRef]
- 20. Zhao, Z.Q.; Zheng, P.; Xu, S.T.; Wu, X.D. Object Detection with Deep Learning: A Review. *IEEE Neural Netw. Learn. Syst.* 2019, 30, 3212–3232. [CrossRef]
- 21. Suzuki, K. Overview of deep learning in medical imaging. Radiol. Phys. Technol. 2017, 10, 257–273. [CrossRef]
- 22. Xie, L.; Lee, F.F.; Liu, L.; Kotani, K.; Chen, Q. Scene recognition: A comprehensive survey. Pattern Recogn. 2020, 102, 18. [CrossRef]
- 23. Yee, C.K.; Yeo, Y.H.; Cheng, L.H.; Yen, K.S. Impurities detection in edible bird's nest using optical segmentation and image fusion.
- Mach. Vision Appl. 2020, 31, 68. [CrossRef]
 24. Fan, J.C.; Liu, X.X.; Wang, X.Z.; Wang, D.Y.; Han, M. Multi-Background Island Bird Detection Based on Faster R-CNN. *Cybernet*. Syst. 2020. [CrossRef]
- 25. Cao, X.K.; Wang, Z.P.; Zhao, Y.Y.; Su, F. Scale Aggregation Network for Accurate and Efficient Crowd Counting. *Lect. Notes Comput. Sci.* **2018**, 11209, 757–773. [CrossRef]
- 26. Kim, S.; Kim, M. Learning of Counting Crowded Birds of Various Scales via Novel Density Activation Maps. *IEEE Access* 2020, *8*, 155296–155305. [CrossRef]
- 27. Flores, C.F.; Gonzalez-Garcia, A.; van de Weijer, J.; Raducanu, B. Saliency for fine-grained object recognition in domains with scarce training data. *Pattern Recogn.* 2019, *94*, 62–73. [CrossRef]
- 28. Lai, D.Y.; Tian, W.; Chen, L. Improving classification with semi-supervised and fine-grained learning. *Pattern Recogn.* **2019**, *88*, 547–556. [CrossRef]
- 29. Atanbori, J.; Duan, W.T.; Shaw, E.; Appiah, K.; Dickinson, P. Classification of bird species from video using appearance and motion features. *Ecol. Inform.* **2018**, *48*, 12–23. [CrossRef]
- 30. Xie, G.S.; Zhang, X.Y.; Yang, W.H.; Xu, M.L.; Yan, S.C.; Liu, C.L. LG-CNN: From local parts to global discrimination for fine-grained recognition. *Pattern Recogn.* 2017, *71*, 118–131. [CrossRef]
- 31. Ferreira, A.C.; Silva, L.R.; Renna, F.; Brandl, H.B.; Renoult, J.P.; Farine, D.R.; Covas, R.; Doutrelant, C. Deep learning-based methods for individual recognition in small birds. *Methods Ecol. Evol.* **2020**, *11*, 1072–1085. [CrossRef]
- 32. Yousif, H.; Yuan, J.H.; Kays, R.; He, Z.H. Animal Scanner: Software for classifying humans, animals, and empty frames in camera trap images. *Ecol. Evol.* 2019, *9*, 1578–1589. [CrossRef] [PubMed]

- 33. Wei, W.D.; Luo, G.; Ran, J.H.; Li, J. Zilong: A tool to identify empty images in camera-trap data. *Ecol. Inform.* 2020, 55, 7. [CrossRef]
- 34. Bochner, A.P.J.Q.I. Bird on the wire: Freeing the father within me. Qual. Inq. 2012, 18, 168–173. [CrossRef]
- 35. D'Amico, M.; Catry, I.; Martins, R.C.; Ascensao, F.; Barrientos, R.; Moreira, F.J.A. Bird on the wire: Landscape planning considering costs and benefits for bird populations coexisting with power lines. *Ambio* **2018**, 47, 650–656. [CrossRef] [PubMed]
- 36. Bird Fans. 2019. Available online: http://www.birdfans.com (accessed on 15 June 2019).
- 37. Shahinfar, S.; Meek, P.; Falzon, G. "How many images do I need?" Understanding how sample size per class affects deep learning model performance metrics for balanced designs in autonomous wildlife monitoring. *Ecol. Inform.* **2020**, *57*. [CrossRef]
- Sullivan, B.L.; Wood, C.L.; Iliff, M.J.; Bonney, R.E.; Fink, D.; Kelling, S. eBird: A citizen-based bird observation network in the biological sciences. *Biol. Conserv.* 2009, 142, 2282–2292. [CrossRef]
- 39. Perez, L.; Wang, J. The effectiveness of data augmentation in image classification using deep learning. arXiv 2017, arXiv:1712.04621.
- 40. Jain, A.K.; Mao, J.; Mohiuddin, K.M.J.C. Artificial neural networks: A tutorial. Computer 1996, 29, 31–44. [CrossRef]
- 41. Patricio, C.; GaëL, V.; Learning, K.B.J.M. Similarity encoding for learning with dirty categorical variables. *Mach. Learn.* **2018**, 107, 1477–1494.
- Neary, P. Automatic hyperparameter tuning in deep convolutional neural networks using asynchronous reinforcement learning. In Proceedings of the 2018 IEEE International Conference on Cognitive Computing (ICCC), San Francisco, CA, USA, 2–7 July 2018; pp. 73–77.
- 43. Boer, P.; Kroese, D.P.; Mannor, S.; Rubinstein, R.Y. A Tutorial on the Cross-Entropy Method. *Ann. Oper. Res.* 2005, 134, 19–67. [CrossRef]
- 44. Krizhevsky, A.; Sutskever, I.; Hinton, G.E. ImageNet Classification with Deep Convolutional Neural Networks. *Commun. ACM* **2017**, *60*, 84–90. [CrossRef]
- 45. Simonyan, K.; Zisserman, A. Very Deep Convolutional Networks for Large-Scale Image Recognition. arXiv 2014, arXiv:1409.1556.
- 46. He, K.M.; Zhang, X.Y.; Ren, S.Q.; Sun, J. Deep Residual Learning for Image Recognition. In 2016 IEEE Conference on Computer Vision and Pattern Recognition; IEEE: New York, NY, USA, 2016; pp. 770–778.
- 47. He, K.M.; Zhang, X.Y.; Ren, S.Q.; Sun, J. Identity Mappings in Deep Residual Networks. In *Lecture Notes in Computer Science*; Leibe, B., Matas, J., Sebe, N., Welling, M., Eds.; Springer: Cham, Switzerland, 2016; Volume 9908, pp. 630–645.
- Szegedy, C.; Liu, W.; Jia, Y.Q.; Sermanet, P.; Reed, S.; Anguelov, D.; Erhan, D.; Vanhoucke, V.; Rabinovich, A. Going Deeper with Convolutions. In Proceedings of the 2015 IEEE Conference on Computer Vision and Pattern Recognition (CVPR), Boston, MA, USA, 7–12 June 2015; pp. 1–9. [CrossRef]
- Huang, G.; Liu, Z.; van der Maaten, L.; Weinberger, K.Q. Densely Connected Convolutional Networks. In Proceedings of the 30th Ieee Conference on Computer Vision and Pattern Recognition (Cvpr 2017), Honolulu, HI, USA, 21–26 July 2017; pp. 2261–2269. [CrossRef]
- 50. Paszke, A.; Gross, S.; Massa, F.; Lerer, A.; Bradbury, J.; Chanan, G.; Killeen, T.; Lin, Z.M.; Gimelshein, N.; Antiga, L.; et al. PyTorch: An Imperative Style, High-Performance Deep Learning Library. *arXiv* **2019**, arXiv:1912.01703.
- 51. Carvalho, T.; de Rezende, E.R.S.; Alves, M.T.P.; Balieiro, F.K.C.; Sovat, R.B. Exposing Computer Generated Images by Eye's Region Classification via Transfer Learning of VGG19 CNN. In Proceedings of the 2017 16th IEEE International Conference on Machine Learning and Applications (ICMLA), Cancun, Mexico, 18–21 December 2017; pp. 866–870. [CrossRef]
- 52. Weiss, K.; Khoshgoftaar, T.M.; Wang, D. A survey of transfer learning. J. Big Data 2016, 3, 1–40. [CrossRef]
- 53. Yosinski, J.; Clune, J.; Bengio, Y.; Lipson, H.J.M.P. How transferable are features in deep neural networks? *arXiv* 2014, arXiv:1411.1792.
- 54. Huh, M.; Agrawal, P.; Efros, A.A. What makes ImageNet good for transfer learning? *arXiv* **2016**, arXiv:1608.08614.
- GitHub. Available online: https://github.com/wzj207/https-github.com-wzj207-Identifying-Habitat-Elements-from-Bird-Images-Using-Deep-Learning (accessed on 17 April 2021).
- 56. Pontes, F.J.; Amorim, G.; Balestrassi, P.P.; Paiva, A.; Ferreira, J.R. Design of experiments and focused grid search for neural network parameter optimization. *Neurocomputing* **2016**, *186*, 22–34. [CrossRef]
- Smith, L.N. A disciplined approach to neural network hyper-parameters: Part 1–learning rate, batch size, momentum, and weight decay. arXiv 2018, arXiv:1803.09820b.
- 58. Duda, J.J. SGD momentum optimizer with step estimation by online parabola model. arXiv 2019, arXiv:1907.07063.
- 59. Zhang, S.X.; Choromanska, A.; LeCun, Y. Deep learning with Elastic Averaging SGD. *arXiv* 2015, arXiv:1412.6651.
- 60. Ge, R.; Kakade, S.M.; Kidambi, R.; Netrapalli, P.J. The step decay schedule: A near optimal, geometrically decaying learning rate procedure for least squares. *arXiv* **2019**, arXiv:1904.12838.
- 61. Brownlee, J. What is the Difference between a Batch and an Epoch in a Neural Network? Machine Learning Mastery: Vermont, Australia, 2018.
- Liu, B.; Tao, J.; Zheng, Y. A Novel Unified Framework for Speech Enhancement and Bandwidth Extension Based on Jointly Trained Neural Networks. In Proceedings of the 2018 11th International Symposium on Chinese Spoken Language Processing (ISCSLP), Taipei, Taiwan, 26–29 November 2018; pp. 11–15.
- 63. Alahmari, S.S.; Goldgof, D.B.; Mouton, P.R.; Hall, L.O. Challenges for the Repeatability of Deep Learning Models. *IEEE Access* 2020, *8*, 211860–211868. [CrossRef]

- Belkina, A.C.; Ciccolella, C.O.; Anno, R.; Halpert, R.; Spidlen, J.; Snyder-Cappione, J.E. Automated optimized parameters for T-distributed stochastic neighbor embedding improve visualization and analysis of large datasets. *Nat. Commun.* 2019, 10, 12. [CrossRef]
- Muhammed, M.A.E.; Ahmed, A.A.; Khalid, T.A. Benchmark analysis of popular imagenet classification deep cnn architectures. In Proceedings of the 2017 International Conference On Smart Technologies For Smart Nation (SmartTechCon), Bengaluru, India, 17–19 August 2017; pp. 902–907.
- 66. Rabinovich, A.; Vedaldi, A.; Galleguillos, C.; Wiewiora, E.; Belongie, S. Objects in context. In Proceedings of the 2007 IEEE 11th International Conference on Computer Vision, Rio de Janeiro, Brazil, 14–21 October 2007; pp. 1–8.
- 67. Ellen, J.S.; Graff, C.A.; Ohman, M.D. Improving plankton image classification using context metadata. *Limnol. Oceanogr. Methods* **2019**, *17*, 439–461. [CrossRef]
- 68. Adams, A.A.; Ferryman, J.M. The future of video analytics for surveillance and its ethical implications. *Secur. J.* **2015**, *28*, 272–289. [CrossRef]
- 69. Cristani, M.; Del Bue, A.; Murino, V.; Setti, F.; Vinciarelli, A. The visual social distancing problem. *IEEE Access* 2020, *8*, 126876–126886. [CrossRef]
- 70. Li, A.; Guo, J.; Yang, H.; Chen, Y. Deepobfuscator: Adversarial training framework for privacy-preserving image classification. *arXiv* **2019**, arXiv:1909.04126.
- Orekondy, T.; Schiele, B.; Fritz, M. Towards a visual privacy advisor: Understanding and predicting privacy risks in images. In Proceedings of the IEEE International Conference on Computer Vision, Venice, Italy, 22–27 October 2017; pp. 3686–3695.
- 72. Swanson, A.; Kosmala, M.; Lintott, C.; Simpson, R.; Smith, A.; Packer, C. Snapshot Serengeti, high-frequency annotated camera trap images of 40 mammalian species in an African savanna. *Sci. Data* **2015**, *2*, 1–14. [CrossRef]
- 73. Zhou, Z.H.; Zhang, M.L.; Huang, S.J.; Li, Y.F. Multi-instance multi-label learning. Artif. Intell. 2012, 176, 2291–2320. [CrossRef]
- 74. Jin, R.; Wang, S.J.; Zhou, Z.H. Learning a Distance Metric from Multi-instance Multi-label Data. In Proceedings of the IEEE Conference on Computer Vision and Pattern Recognition, Miami, FL, USA, 20–25 June 2009.
- 75. Tryjanowski, P.; Hetman, M.; Czechowski, P.; Grzywaczewski, G.; Sklenicka, P.; Ziemblińska, K.; Sparks, T.H. Birds drinking alcohol: Species and relationship with people. A review of information from scientific literature and social media. *Animals* **2020**, *10*, 270. [CrossRef]
- 76. Stoddard, M.C.; Kupán, K.; Eyster, H.N.; Rojas-Abreu, W.; Cruz-López, M.; Serrano-Meneses, M.A.; Küpper, C. Camouflage and clutch survival in plovers and terns. *Sci. Rep.* **2016**, *6*, 1–11. [CrossRef]
- Wu, K.; Wu, E.; Kreiman, G. Learning Scene Gist with Convolutional Neural Networks to Improve Object Recognition. In Proceedings of the 2018 52nd Annual Conference on Information Sciences and Systems (CISS), Princeton, NJ, USA, 21–23 March 2018.
- Galleguillos, C.; Belongie, S. Context based object categorization: A critical survey. *Comput. Vis. Image Underst.* 2010, 114, 712–722. [CrossRef]
- 79. Agarap, A.F. Deep learning using rectified linear units (relu). arXiv 2018, arXiv:1803.08375.
- 80. Baldi, P.; Sadowski, P.J. Understanding dropout. In *Advances in Neural Information Processing Systems*; MIT Press: Cambridge, MA, USA, 2013; Volume 26, pp. 2814–2822.